



How to divide Monomial by another Monomial:
$$\frac{15 \chi^{6} y^{8}}{-3 \chi^{2} y^{7}} = \frac{15}{-3} \cdot \frac{\chi^{6}}{\chi^{2}} \cdot \frac{y^{8}}{y^{7}}$$

$$= -5 \chi^{6-2} y^{3-7}$$

$$= -5 \chi^{4} y^{7} = -5 \chi^{4} y$$

$$= -5 \chi^{4} y$$

$$=$$

Poly nomials: When You add or subtract monomials.

$$4x^{36} + 7x^{2} - 10x + 15$$
Lead. Goes. = 4

Constant = 15

$$-2x^{4}y^{5} + 10x^{3}y^{2} - 100xy - 2022$$

$$-2x^{4}y^{5} + 10x^{2}y^{2} - 100xy - 2022$$

$$-$$

Dividing Polynomials by monomials:
$$\frac{8 x^{4} - 6x^{2} + 8}{4x^{2}} = \frac{2x^{4} - 3x^{2}}{4x^{2}} + \frac{2}{x^{2}}$$
Divide:
$$\frac{2x^{2} - 3}{2} + \frac{2}{x^{2}}$$
Divide:
$$\frac{12 x^{6}y^{8} - 9 x^{4}y^{6} + 3x^{3}y^{2}}{-3x^{3}y^{2}} + \frac{3x^{3}y^{2}}{-3x^{3}y^{2}}$$

$$\frac{12 x^{6}y^{8}}{-3x^{3}y^{2}} - \frac{9x^{4}y^{6}}{-3x^{3}y^{2}} + \frac{3x^{3}y^{2}}{-3x^{3}y^{2}}$$

$$= -4 x^{6-3}x^{2} + 3x^{4-3}y^{6-2} - 1 = 4x^{3}y^{6+3}x^{4-1}$$

Poly nomial

Poly nomial

$$\frac{\chi^{3} + 5\chi^{2} - 3\chi - 3}{\chi - 1} \qquad \chi - 1 \qquad \frac{\chi^{2} + 6\chi + 3}{\chi^{3} + 5\chi^{2} - 3\chi - 3} \\
\chi = \chi^{3} \qquad \chi - 1 \qquad \chi^{3} + 5\chi^{2} - 3\chi - 3$$

$$\chi = \chi^{2} = \chi^{3} \qquad \qquad \chi^{2} = \chi^{3} \qquad \qquad \chi^{2} \qquad \qquad$$

Divide:
$$\frac{\chi^2 - 20}{\chi - 4} \neq \frac{\chi^2}{\chi} + \frac{20}{4}$$
 WRONG?
 $\chi = \chi^2 + 0\chi - 20$
 $\chi = \chi^2 - 4\chi$
 $\chi = 4\chi$
 $\chi = 4\chi$
 $\chi = 4\chi$
Final Ans $\chi + 4 + \frac{4}{\chi - 4}$

Divide:
$$\frac{\chi^{3} + 32}{\chi + 2}$$
 $\frac{\chi^{2} - 2\chi}{\chi + 2} + 4$
 $\chi + 2 \left[\chi^{3} + 0\chi^{2} + 0\chi + 32 \right]$
 $\chi \left[\chi^{2} = \chi^{3} \right] - \left(\chi^{3} + 2\chi^{2} \right)$
 $\chi \left[-2\chi \right] = -2\chi^{2}$
 $\chi \left[-2\chi^{2} - 4\chi \right]$
 $\chi \left[-2\chi^{2} - 4\chi \right]$
 $\chi^{2} - 2\chi + 4\chi$

Remainder $\frac{\chi^{2} - 2\chi}{\chi + 2}$